[#1 L7147 IVDER)

6 FE 5 F- 24
BE | No. EFKA FLER JE L BE | No. EFK4A L% JE L
2 s B 1.49 130 LE 102 B &FE 7. 31 121
4 HA BX 6. 04 28 104 I 6.43 90
A 6 iz 3 5.32 4 106 =H e 5.55 17
8 ESREER 6. 36 81 THE 108 FEAT B 5.43 10
10 g BE— 5.56 19 ¢ 110 % IEE
WAE |12 Rl B 112 HE R
14 hE JER g 114 BA i 5.26 2
16 g H= 6. 25 66 116 WE EE 5.39 8
5 18 e UE K 6.07 33 118 BEO OB 6. 35 80
20 | ERAAKR MiE 5.48 12 st | 120 =1F finlE 6.13 41
29 BA B 5.57 21 BE 120 | &8 x5 5.42 9
A 24 Sl EH 6. 14 44 124 1t5 £ 6.39 84
26 L KERE gases 126 Hep #%8to 7.16 117
i | 28 CE 128 HI B 6. 05 30
30 hE RE 6.59 106 —& | 130 WA BEsf 7.42 127
48 32 EX A 6.27 70 132 5 K& 6.23 62
34 hE B 7.03 110 134 2K &% 6. 21 58
36 AR g1 6. 56 104 136 KEE BEE
EF | 38 NG PN 6. 04 28 — 4 138 PN 6.08 35
BH | 40 —= IEX 6.01 24 = 140 J\AK BB
42 R BE 6.12 39 142 | AKX JEKEB 8.217 131
R | 44 7a)ll B 6. 26 68 144 BHHE KA 7.33 123
46 TR =+ 146 BEm $H3E 6.53 103
Rith | 48 BH #X 7.02 108 148 I K 6. 22 61
50 =l BX 6.16 48 — 25 150 BE WA 71.35 124
BRI | 52 HE FA 6.52 101 = 152 B BB 7.14 115
54 fIH —3F 6.03 21 154 Eim 5 6.47 94
56 FHE kb 6. 49 08
58 | dvm f&&F 3 6. 14 44
€l | 60 =& W 6. 49 98
62 B RXK 6. 24 63
64 B R 5.37 6
66 AE BBE
AAR— s T = » 650 100
70 AR BAMG
72 A HE 6. 36 81
74 Jtig 1A 6.17 52
76 il A 7.19 118
78 Wk BX 1. 36 125
80 BE BN 5. 56 19
82 WA EE 7. 43 128
IR T ek 7 | 639 | 84
86 SH Ets 1.02 108
88 =H 2E 7. 44 129
90 R Wi 6.52 101
92 A3 hiE 6.16 48
94 =L NIPN
96 WA & 6.37 83
98 B8 EEA
WF 00 &n =a 617 %2




